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Key Skills — Converting FDP

Mixed using x tables Mental skills Key Skills- Area, Perimeter, Volume
4.9 =7 = 25% of 700 = 1 t

E = % Area = 60cm? ?
8x6= 26.6 + 26.6 = }
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A /81 — 45600-3700 = 0.25 +_ +60% = ?=
4500 - 90 103 — length = 6cm
height =3
1500 + 300 = 62-42 = width = Sem
1.6+ 8= 72.5 +30.5 = 0.345 = Volume =
. - o _ - ? - |
180 ] 6 — 1/0 x 2300 - % ] 0.75 Ti Ii'erlrn:izr=f6un
0.4 X 0.3 - 62 + 32 - What are the dimensions?
9 X 8 — Double 3016 = Which is smaller?
12
8x3=4x Half of 6.5 = 48%, o 0.5 t
& cm

12 = 1

%of16=

6000 + 50 =

>x32=
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Mixed using x tables Mental skills Key Skills - Converting FDP Key Skills- Area, Perimeter, Volume
6 x 2 = Half Of 2.5 = % — 0.45 Ares - 1

?
8 X5= 3 Of 100 - 49cm? 1
14 . 7 - 112 _ 22 _ Which is greater? )=

13
6 X :| =42 |5% of360-= 2%, o 05 Leer::;: ii:ﬂm f\/
1.6+ 8= as8:| | =458 1 width = 10cm
e &
2400 + =8016.02 x 100 = Volume =
1 -+ ? *

320 + 80 = 25% Of 864 = 0'25 + 5 + 60% = g Perimeter = 42m

:‘, Area = 104m?
5 X 7 = 58.6 +102.4 = What are the dimensions?
21+0.3= 34200-1300 =

3 _ 0.672 = A regular hexagon has a
V100 = 5% =
— perimeter of 42 cm. What is
1500 = 300 = the length of each side?
Double 4116 =




